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1- fuEufyf[kr esa ls fdl vf/kfu;e ds varxZr Hkkjrh; 

fo/kku ifj"kn~ dks ctV ij cgl djus dh 'kfDr izkIr 

gqbZ\ 

¼a½ Hkkjrh; ifj"kn~ vf/kfu;e] 1861   

¼b½ Hkkjrh; ifj"kn~ vf/kfu;e] 1892 

¼c½ Hkkjrh; ifj"kn~ vf/kfu;e] 1902   

¼d½ Hkkjr 'kklu vf/kfu;e] 1919 
 

2- vuqPNsn 108 ds rgr gksus okyh la;qä cSBd ds 

nkSjku ;fn yksdlHkk dk v/;{k o mik?;{k nksuks 

vuqifLFkr gks rc bl cSBd dh v/;{krk dkSu djsxk\ 

¼a½ yksdlHkk dk dksbZ rhljk lnL;   

¼b½ jkT;lHkk dk lHkkifr 

¼c½ jkT;lHkk dk milHkkifr   

¼d½ Hkkjr dk jk"Vªifr 
 

3- Hkkjr ds ml yksdlHkk v/;{k dk uke crkb, ftldks 

Hkkjr dk jk"Vªifr cuus dk Hkh lkSHkkX; izkIr gqvk\ 

¼a½ th-oh ekoyadj  ¼b½ uhye latho jsÏh 

¼c½ cyjke tk[kj  ¼d½ ih-,-laxek 
 

4- ;fn Hkkjr dk mijk"Vªifr fdUgh dkj.kksa ls in 

NksM+rk gS rks vxys mijk"Vªifr ds fuokZfpr gksus ds 

fy, U;wure le; lhek lafo/kku esa D;k j[kh x;h gS\ 

¼a½ 6 ekg       ¼b½ 1 o"kZ 

¼c½ 3 ekg       ¼d½ le; lhek fu/kkZfjr ugha 
 

5- ;fn vuqPNsn 356 ds rgr jk"Vªifr 'kkLku yxk;k 

tkrk gS rks ;g fdrus le; rd vf/kdre ykxw jg 

ldrk gS\ 

¼a½ 1 o"kZ   ¼b½ 6 ekg 

¼c½ 2 o"kZ   ¼d½ 3 o"kZ 
 

6- Hkkjr ds lafo/kku ds fdl vuqPNsn esa fuokZg etnwjh 

o dqVhj m|ksxksa dk o.kZu fd;k x;k gS\ 

¼a½ vuq- 40   ¼b½ vuq- 41 

¼c½ vuq- 42   ¼d½ vuq- 43 
 

7- 42 osa lafo/kku la'kks/ku ds }kjk fuEu esa ls dkSu&dkSu 

ls vuqPNsn tksM+s x,\ 

¼a½ 39 A    ¼b½ 43 A 

¼c½ 48 A   ¼d½ mijksä esa ls lHkh 
 

 

 

 

8- ewy vf/kdkj ds varxZr of.kZr vuqPNsnksa esa ls 

fuEufyf[kr esa ls dkSu ls nks vuqPNsn iw.kZr% 

vR;kafrd ¼Absolute½ gS\ 

1. Under which of the following Acts the Indian 

Legislative Council got the power to debate the 

budget? 

(a) The Indian Councils Act, 1861 

(b) Indian Councils Act, 1892 

(c) Indian Councils Act, 1902 

(d) Government of India Act, 1919 

 
2. If both the Speaker and the Deputy Speaker of the 

Lok Sabha are absent during the joint sitting to be 

held under Article 108, then who will preside over 

this meeting? 

(a) Any third member of the Lok Sabha 

(b) Chairman of Rajya Sabha 

(c) Deputy Chairman of Rajya Sabha 

(d) President of India 

 
3. Name the Speaker of the Lok Sabha of India who 

also got the privilege of becoming the President of 

India? 

(a) G.V. Mavalankar   

(b) Neelam Sanjiva Reddy 

(c) Balram Jakhar   (d) P.A. Sangma 
 

4. If the Vice-President of India resigns for any 

reason, then what is the minimum time limit for the 

next new election of the Vice-President as per the 

Consitution? 

(a) 6 months   (b) 1 year 

(c) 3 months  (d) Time limit not fixed 

 
5. If President's rule is imposed under Article 356, 

then for how long it can remain in force for the 

maximum years of - 

(a) 1 year    (b) 6 months 

(c) 2 years    (d) 3 years 

 
6. In which article of the Constitution of India, 

subsistence wages and cottage industries have been 

described? 

(a) Article 40   (b) Article. 41 

(c) Article 42   (d) Article. 43 
 

7. Which of the following articles were added by the 

42nd Constitutional Amendment? 

(a) 39A    (b) 43A 

(c) 48A    (d) All of the above 
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¼a½ 14 o 15  ¼b½ 15 o 16 

¼c½ 17 o 24  ¼d½ 21 o 22 
 

9- mRizs"k.k o izfr"ks/k fjV ds ckjs esa fopkj djsa\ 

1- ,slh fjV flQZ U;k;ky; ds }kjk U;kf;d laLFkk ds 

fo:) tkjh dh tk ldrh gSA 

2- mRizs"k.k rc tkjh dh tkrh gS tc fupyh vnkyr 

}kjk fu.kZ; ns fn;k x;k gksrk gSA 

3- izfr"ks/k rc tkjh dh tkrh gS tc fupyh vnkyr 

esa lquokbZ py jgh gksrh gSA 

4- izfr"ks/k dks LVs vkWMZj ds :Ik esa Hkh tkuk tkrk gSA 

dwV & 

¼a½ 1] 2 lgh  ¼b½ 2] 3 lgh  

¼c½ 2] 3] 4 lgh  ¼d½ lHkh lgh gSA 
  

10- jkT;iky viuh {keknku 'kfä;ksa dk iz;ksx fdl 

vuqPNsn ds rgr djrk gS\ 

¼a½ vuq- 72   ¼b½ vuq- 163 

¼c½ vuq- 161  ¼d½ vuq- 170 
  

11- Hkkjr ds lafo/kku esa eaf=ifj"kn ds lkewfgd 

mÙkjnkf;Ro dk fl)kar fuEufyf[kr fdl vuqPNsn esa 

ns[kk tk ldrk gS\ 

¼a½ 75 ¼1½   ¼b½ 75 ¼2½ 

¼c½ 75 ¼3½   ¼d½ 75 ¼4½  
  

12- fdl iz/kkuea=h ds fo:) lcls T;knk ckj vfo'okl 

izLrko yk, x,\ 

¼a½ bafnjk xka/kh  ¼b½ ia- tokgj yky usg: 

¼c½ ujsUnz eksnh  ¼d½ pkS/kjh pj.k flag 
  

13- Hkkjr ds lafo/kku ds fdl vuqPNsn ds rgr jkT;lHkk 

esa jk"Vªifr dks 12 lnL; ukekafdr djus dk vf/kdkj 

iznku fd;k x;k gS\ 

¼a½ vuq- 79   ¼b½ vuq- 80 

¼c½ vuq- 81   ¼d½ vuq- 82 

14- fuEufyf[kr esa ls fdl lnu esa vkj{k.k dh O;oLFkk 

ugha dh xbZ gS\ 

¼a½ fo/kkulHkk  ¼b½ yksdlHkk 

¼c½ jkT;lHkk   

¼d½ la?k 'kkflr izns'k dh fo/kkulHkk 

15- dk;Z LFkxu izLrko ds ckjs esa fuEufyf[kr esa ls D;k 

lgh gS\ 

¼a½ ea=h dk /;ku vkdf"kZr fd;k tkrk gSA 

¼b½ lnu dk /;ku vkdf"kZr fd;k tkrk gSA 

¼c½ yksdlHkk v/;{k dk /;ku vkdf"kZr fd;k tkrk gSA 

¼d½ iz/kkuea=h dk /;ku vkdf"kZr fd;k tkr gSA 

16- Hkkjr ds egkU;k;oknh ds ckjs eas fuEufyf[kr dFkuksa 

ij fopkj dhft,& 

1- bldh fu;qfä Hkkjr ds jk"Vªifr }kjk vuq- 76 ds 

8. Which of the following two of the articles 

mentioned under the Fundamental Rights are 

absolute? 

(a) 14 and 15   (b) 15 and 16 

(c) 17 and 24   (d) 21 and 22 

 

9. Think about the writs of certiorariy and 

prohibition? 

1. Such a writ can be issued only by a court against a 

judicial institution. 

2. The certiorary is issued when the judgment has 

been given by the lower court. 

3. Prohibition is issued when the trial is going on in 

the lower court. 

4. Prohibition is known as a stay order. 

Code - 

(a) 1, 2 correct   (b) 2, 3 correct 

(c) 2, 3, 4 are correct  (d) all are correct. 

 
 

10. Under which article does the Governor exercise his 

pardoning powers? 

(a) Article 72   (b) Article. 163 

(c) Article 161   (a) Article. 170 

 
11. The principle of collective responsibility of the 

Council of Ministers in the Constitution of India 

can be seen in which of the following articles? 

(a) 75 (1)    (b) 75 (2) 

(c) 75 (3)    (d) 75 (4) 

 
12. Against which Prime Minister the most number of 

no-confidence motions were brought? 

(a) Indira Gandhi        (b) Pt. Jawaharlal Nehru 

(c) Narendra Modi        (d) Chaudhary Charan Singh 

 
13. Under which article of the Constitution of India, 

the President has been given the right to nominate 

12 members in the Rajya Sabha? 

(a) Article 79   (b) Article 80 

(c) Article 81   (d) Article. 82 
 

14. In which of the following house reservation has not 

been provided? 

(a) State Assembly   (b) Lok Sabha 

(c) Rajya Sabha 

(d) Legislative Assembly of the Union Territory 
 

15. Which of the following is true about adjournment 

motion? 

(a) To attract the  attention of the Minister  

(b) To attract the attention of house. 

(c) To attract the attention of the Speaker of the Lok 

 Sabha. 

(d) To attract the attention of the Prime Minister. 
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rgr dh tkrh gSA 

2- ;g Hkkjr dk izFke fof/kd vf/kdkjh gksrk gSA 

3- bl in ds fy, mPp U;k;ky; ds U;k;k/kh'k cuus 

dh ;ksX;rk dh vko';drk gksrh gSA 

4- bls futh izSfDVl djus dk vf/kdkj gksrk gSA 

dwV & 

¼a½ 1] 2 lgh   ¼b½ 2] 3 lgh gSA 

¼c½ 1] 2] 4 lgh gSA  ¼d½ 2] 3] 4 lgh gSA 
  

  

17- Hkkjr dk la?kh; U;k;ky; fuEufyf[kr esa ls fdl o"kZ 

eas LFkkfir fd;k x;k Fkk\ 

¼a½ 1935   ¼b½ 1937 

¼c½ 1946   ¼d½ 1947 
  

18- ,d ^la?kh; O;oLFkk* vkSj ^dsanz* esa ^}S/k 'kklu* Hkkjr 

esa ykxw fd;k x;k Fkk\ 

¼a½ 1909 ds vf/kfu;e }kjk   

¼b½ 1919 ds vf/kfu;e }kjk 

¼c½ 1935 ds vf/kfu;e }kjk 

¼d½ mi;qZDr esa ls dksbZ ugha 
  

19- uhps nks oDrO; fn, x, gSa& 

dFku ¼A½% ososy ;kstuk ds vuqlkj] dk;Zdkjh] ifj"kn 

esa fganq vkSj eqfLye lnL;ksa dh la[;k leku gksrh FkhA 

dkj.k ¼R½% ososy dk fopkj Fkk fd ,slh O;oLFkk ls 

Hkkjr dk caVokjk cp tkrkA 

¼a½ dFku vkSj dkj.k nksuksa lgh gSa vkSj dFku dkj.k 

 dk lgh Li"Vhdj.k gSA   

¼b½ dFku vkSj dkj.k nksuksa lgh gSa] fdarq dFku dkj.k 

 dk lgh Li"Vhdj.k ugha gSA 

¼c½ dFku lgh gS] ij dkj.k xyr gSA  

¼d½ dFku xyr gS] ij dkj.k lgh gSA 

20- Hkkjrh; bfrgkl ds lanHkZ esa] izkarksa ls lafo/kku lHkk ds 

lnL;\ 

¼a½ mu izkarksa ds yksxksa }kjk lh/ks fuokZfpr gq, FksA  

¼b½ Hkkjrh; jk"Vªh; dkaxzsl rFkk eqfLye yhx }kjk 

 ukfer gq, FksA 

¼c½ izkarh; fo/kkulHkkvksa }kjk fuokZfpr gq, FksA  

¼d½ ljdkj }kjk] laoS/kkfud ekeyksa esa mudh    

 fo'ks"kKrk ds fy;s pqus x, FksA 

21- Hkkjr us leorhZ lwph dh ladYiuk m)`r dh gS\ 

¼a½ ;w-,l-,- ds lafo/kku ls   

¼b½ fLoV~tjySaM ds lafo/kku ls 

¼c½ vkLVsªfy;k ds lafo/kku ls   

¼d½ ;w-,l-,l-vkj- ds lafo/kku ls 

22- fyf[kr lafo/kku dk izkjaHk fdl ns'k ls gqvk\ 

¼a½ tkiku   ¼b½ Hkkjr 

¼c½ fczVsu   ¼d½ vesfjdk 
  

16. Consider the following statements about the 

Attorney General of India- 

1. It is appointed by the President of India under 

 article  under 76. 

2. It is the first legal officer of India. 

3. This post requires same qualification as to be 

 appointed as a High Court  Judge. 

4. It has the right to do private practice. 

Code - 

(a) 1, 2 is correct   (b) 2, 3 is correct. 

(c) 1, 2, 4 are correct (d) 2, 3, 4 are correct. 

 

 
17. In which of the following year was the Federal 

Court of India established? 

(a) 1935    (b) 1937 

(c) 1946    (d) 1947 

 

18. A 'Federal System' and 'Dual Government' at the 

'Centre' was implemented in India? 

(a) By an Act of 1909 

(b) By an Act of 1919 

(c) By the Act of 1935 

(d) none of the above 

 

19. Given below are two statements- 

Assertion (A) : According to the Wavell plan, the 

executive council had an equal number of Hindu and 

Muslim members. 

Reason (R) : Wavell thought that such an arrangement 

would have saved the partition of India. 

(a) Both the assertion and the reason are true and the  

     assertion is the correct explanation of the reason. 

(b) Both the assertion and the reason are true, but the  

     assertion is not the correct explanation of the   

     reason. 

(c) Assertion is true, but reason is false. 

(d) Assertion is false but reason is correct. 
 

20. In the context of Indian history, the members of the 

Constituent Assembly from the provinces? 

(a) Were directly elected by the people of those  

     provinces. 

(b) Were nominated by the Indian National Congress  

     and the Muslim League. 

(c) Were elected by the provincial assemblies. 

(d) Were elected by the government for their expertise  

      in constitutional matters. 
 

21. India has adopted the concept of Concurrent List? 

(a) U.S.A. from the constitution of 

(b) Constitution of Switzerland 

(c) Constitution of Australia 

(d) U.S.S.R. from the constitution of 
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23- fuEufyf[kr dFkuksa ij fopkj dhft,&  

1) Hkkjr ds lafo/kku esa 20 Hkkx gSa 

2) Hkkjr ds lafo/kku esa dqy 390 vuqPNsn gSa 

3) Hkkjr ds lafo/kku esa uoha] nloha] X;kjgoha vkSj 

ckjgoha vuqlwfp;kas dks lafo/kku ¼la'kks/ku½ 

vf/kfu;e }kjk tksM+k x;kA 

mijksDr dFkuksa esa ls dkSu&lk@ls lgh gSa@gSa\ 

¼a½ 1 vkSj 2  ¼b½ dsoy 2 

¼c½ dsoy 3   ¼d½ 1] 2 vkSj 3 
  

24- ^iapk;rh jkt* fo"k; fuEufyf[kr esa ls fdl lwph esa 

lfEefyr gS\ 

¼a½ la?kh; lwph  ¼b½ jkT; lwph 

¼c½ leorhZ lwph  ¼d½ vof'k"V lwph 
  

25- fuEufyf[kr esa ls dkSu&lk 'kCn Hkkjr ds lafo/kku dh 

mÌsf'kdk  esa ugha gSa\ 

¼a½ lektoknh  ¼b½ iaFkfujis{k 

¼c½ izHkqrklaiUu  ¼d½ yksd dY;k.k 
  

26- Hkkjr esa lalnh; iz.kkyh dh ljdkj gS] D;ksafd\ 

¼a½ yksd lHkk turk }kjk izR;{k :Ik ls fuokZfpr gksrh 

 gSA   

¼b½ laln] lafo/kku dk la'kks/ku dj ldrh gSA 

¼c½ jkT; lHkk dks Hkax ugha fd;k tk ldrk gSA 

¼d½ eaf=ifj"kn~] yksd lHkk ds izfr mRrjnk;h gSA 
  

27- fuEufyf[kr esa ls dkSu lh fo'ks"krk Hkkjrh; jktra= 

dh ugha gS\ 

¼a½ ,d lafo/kku laxr ljdkj   

¼b½ yksdrkaf=d ljdkj 

¼c½ fof/k dk 'kklu  ¼d½ lRrkoknh ljdkj 
  

28- fuEukafdr esa ls dkSu ,d v/;{kkRed 'kklu iz.kkyh 

dk vk/kkjHkwr rRo gSa\ 

¼a½ lafo/kku dh dBksjrk ¼b½ ,dy dk;Zikfydk 

¼c½ O;oLFkkfidk dh lokZsPprk   

¼d½ vof'k"V vf/kdkj jkT;ksa ds ikl gksukA 
  

29- Hkkjr dh lalnh; 'kklu iz.kkyh ,oa fczVsu dh 

lalnh; 'kklu iz.kkyh esa varj dk fcanq fuEufyf[kr esa 

ls dkSu gS\ 

¼a½ lkewfgd mRrjnkf;Ro ¼b½ U;kf;d leh{kk 

¼c½ f}&lnukRed O;oLFkkfidk   

¼d½ okLrfod ,oa ukeek= dh dk;Zikfydk 

 

 

30- lekt esa lekurk ds gksus dk ,d fufgrkFkZ ;g gS fd 

mlesa \ 

¼a½ fo'ks"kkf/kdkjksa dk vHkko gS  

¼b½ vojks/kksa dk vHkko gS 

22. From which country the concept of written 

constitution was originated? 

(a) Japan    (b) India 

(c) Britain    (d) America 
 

23. Consider the following statements- 

1) Constitution of India has 20 parts 

2) There are total 390 articles in the constitution of  

     India. 

3) The Ninth, Tenth, Eleventh and TwelthSchedules  

     were added to the Constitution of India by the  

     Constitution Amendment Act. 

Which of the above statements is/are correct? 

(a) 1 and 2    (b) 2 only 

(c) 3 only    (d) 1, 2 and 3 
 

24. The subject 'Panchayati Raj' is included in which 

of the following list ?  
(a) Federal List   (b) State List 

(c) Concurrent List   (d) Residuary List 

 
25. Which of the following words is not in the 

Preamble of the Constitution of India? 

(a) Socialist   (b) Secular 

(c) Sovereign   (d) public welfare 

 

26. There is a parliamentary system of government in 

India because? 

(a) Lok Sabha is directly elected by the people. 

(b) Parliament can amend the Constitution. 

(c) Rajya Sabha cannot be dissolved. 

(d) The Council of Ministers is responsible to the Lok  

      Sabha. 
 

27. Which of the following is not a feature of the 

Indian Political system? 

(a) A constitutionally compatible government 

(b) Democratic government 

(c) Rule of Law  (d) Authoritarian Government 

 
28. Which of the following is the basic element of a 

presidential system of government? 

(a) Rigidity of the constitution (b) Single executive 

(c) Supremacy of the legislature 

(d) Residuary rights to be with the states. 

 
29. Which of the following is the point of difference 

between the parliamentary system of government 

in India and the parliamentary system of 

government in Britain? 

(a) Collective Responsibility (b) Judicial Review 

(c) Bicameral legislature 

(d) Real and nominal executive 
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¼c½ izfrLi/kkZ dk vHkko gS ¼d½ fopkj/kkjk dk vHkko gS 
  

31- Hkkjr esa orZeku esa fdrus la?k 'kkflr izns'k gS\ 

¼a½ 6   ¼b½ 7 

¼c½ 8   ¼d½ 9 
  

32- vka/kz izns'k ,d Hkk"kk;h jkT; ds :Ik esa xfBr fd;k 

x;k\ 

¼a½ 1950   ¼b½ 1953 

¼c½ 1956   ¼d½ 1961 
  

33- Hkkjrh; ukxfjdrk ugha izkIr dh tk ldrh gS\ 

¼a½ tUe }kjk  ¼b½ ns'khdj.k }kjk 

¼c½ fdlh Hkw&Hkkx ds lfEeyu }kjk  

¼d½ Hkkjrh; cSad esa /ku tek djds 
  

34- lafo/kku ds fdl vuqPNsn ds varxZr flD[kksa }kjk 

d`ik.k /kkj.k djuk /kkfeZd Lora=rk dk vax ekuk x;k 

gS\ 

¼a½ vuqPNsn 24  ¼b½ vuqPNsn 25 

¼c½ vuqPNsn 26  ¼d½ vuqPNsn 27 
  

35- Hkkjr esa jgus okyk fczfV'k ukxfjd nkok ugha dj 

ldrk\ 

¼a½ O;kikj vkSj O;olk; dh Lora=rk ds vf/kdkj dk 

¼b½ fof/k ds le{k lerk ds vf/kdkj dk 

¼c½  thou vkSj O;fDrxr Lora=rk dh lqj{kk ds 

 vf/kdkj dk  

¼d½ /keZ dh Lora=rk ds vf/kdkj dk 

36- lafo/kku dk dkSu&lk Hkkx dY;k.kdkjh jkT; dk 

vkn'kZ ?kksf"kr djrk gS\ 

¼a½ ekSfyd vf/kdkj  ¼b½ ekSfyd drZO; 

¼c½ izLrkouk   

¼d½ jkT; ds uhfr funs'kd rRo 
  

37- lafo/kku ds 42osa la'kks/ku }kjk] fuEufyf[kr esa ls 

dkSu&lk fl)kar jkT; dh uhfr ds funs'kd rRoksa esa 

tksM+k x;k Fkk\ 

¼a½ iq#"k vkSj L=h nksuksa ds fy, leku dk;Z dk leku 

 osru   

¼b½ m|ksxksa ds izca/ku esa dkexkjksa dh lgHkkfxrk 

¼c½ dke] f'k{kk vkSj lkoZtfud lgk;rk ikus dk 

 vf/kdkj   

¼d½ Jfedksa ds fy, fuokZg&;ksX; osru ,oa dke dh 

 ekuoh; n'kka, lqjf{kr djukA 
  

 

 

38- buesa ls dkSu jkT; ds uhfr funs'kd fl)karksa esa 

lfEefyr ugha gS\ 

¼a½ e| fu"ks/k  ¼b½ dke dk vf/kdkj 

¼c½ leku dk;Z gsrq leku osru  

30. One of the implications of equality in society is 

that- 

 (a) Lack of privileges 

(b) Lack of obstructions 

(c) Lack of competition  (d) Lack of ideology 

 

31. How many union territories are there in India? 

(a) 6    (b) 7 

(c) 8    (d) 9 

 

32. Andhra Pradesh was formed as a linguistic state? 

(a) 1950    (b) 1953 

(c) 1956    (d) 1961 

 
 

33. Indian citizenship cannot be obtained? 

(a) By birth   (b) By naturalization 

(c) By annexation of any land 

(d) By depositing money in an Indian bank 

 
34. Under which article of the Constitution, wearing 

kirpan by Sikhs is considered a part of religious 

freedom? 

(a) Article 24   (b) Article 25 

(c) Article 26   (d) Article 27 

 
35. A British citizen residing in India cannot claim? 

(a) The right to freedom of trade and business 

(b) The right to equality before the law 

(c) Right to protection of life and personal liberty 

(d) Right to freedom of religion 

 

 

 
36. Which part of the constitution declares the ideal of 

welfare state? 

(a) Fundamental Rights  (b) Fundamental Duties 

(c) Preface 

(d) Directive Principles of State Policy 

 
37. By the 42nd Amendment of the Constitution, which 

one of the following principles was added to the 

Directive Principles of State Policy? 

(a) Equal pay for equal work for both men and women 

(b) Participation of workers in the management of 

 industries 

(c) Right to work, education and public assistance 

(d) To secure subsistence wages and humane 

 conditions of work for the workers. 

 

 

 

 

 



 

 
6 

¼d½ lwpuk dk vf/kdkj 
  

39- lqesfyr dhft,& 

   la'kks/ku   fo"k; 

a- 21ok¡ lafo/kku & 1- cksMks] Mksaxjh] eSfFkyh] laFkkyh 

la'kks/ku 1967 

b- 71ok¡ lafo/kku & 2- fla/kh 

la'kks/ku 1992 

c- 92ok¡ lafo/kku & 3- ef.kiqjh] usikyh] dkasd.kh  

la'kks/ku 2003 

dwV &  A B C 

¼a½   2 1 3 

¼b½   3 1 2 

¼c½  1 2 3  

¼d½   2 3 1 
  

40- fuEu esa ls Hkkjr esa ekSfyd drZO; dkSu&lk gS\ 

¼a½ U;k;ikfydk ls dk;Zikfydk dk i`FkDdj.k 

¼b½ gekjh feyh&tqYkh laLd`fr dh le`) fojklr dks 

 lajf{kr djuk 

¼c½ cPpksa ds fy, eqq¶r ,oa vfuok;Z f'k{kk  

¼d½ NqvkNwr dh ijaijk dks lekIr djukA 
  

41- fuEu esa ls dkSu Hkkjrh; lafo/kku ds varxZr ekSfyd 

drZO;ksa esa lfEefyr ugha gS\ 

¼a½ ns'k dh j{kk djuk ,oa jk"Vª dh lsok djukA  

¼b½ gekjh lkekftd laLd`fr dh xkSjo'kkyh ijaijk dk 

 egRo le>uk vkSj mldk ifjj{k.k djukA 

¼c½ xzke iapk;rksa ds xBu esa lgk;rk djukA 

¼d½ lkoZtfud lEifRr dks lqjf{kr j[kuk ,oa fgalk ls 

 nwj jgukA 
  

42- ^^Hkkjr dh izHkqrk] ,drk vkSj v[kaMrk dh j{kk djsa 

vkSj mls v{kq..k j[ksA** ;g mica/k fdlesa fd;k x;k 

gS\ 

¼a½ lafo/kku dh mÌsf'kdk  

¼b½ jkT; dh uhfr ds funs'kd rRo 

¼c½ ewy vf/kdkj  ¼d½ ewy drZO; 

 
  

43- uhps nks oDrO; fn, x, gSa& 
dFku ¼A½% Hkkjr dk jk"Vªifr vizR;{k fuokZpu ls pquk 

tkrk gSA 

dkj.k ¼R½% ,d fuokZpu eaMy dh O;oLFkk gS] tks 

laln ds nksuksa lnuksa vkSj jkT;kas dh fo/kkulHkkvksa ds 

fuokZfpr lnL;ksa dks feykdj curk gSA 

mi;qZDr ds lanHkZ esa lgh mRrj pqfu,% 

¼a½ ¼A½ lgh gS] fdarq ¼R½ xyr gSA   

¼b½ ¼A½ xyr gS] fdarq ¼R½ lgh gSA 

¼c½ ¼A½ vkSj ¼R½ nksuksa lgh gSa vkSj ¼R½] ¼A½ lgh 

38. Which of the following is not included in the 

Directive Principles of State Policy? 

(a) Prohibition of alcohol   

(b) Right to work 

(c) Equal pay for equal work 

(d) Right to Information 
 

39. Match- 

      Amendment    Subject 

a- 21st Constitution -  1. Bodo, Dongri, Maithili,         

 Amendment 1967            Santhali 

b- 71st Constitution - 2. Sindhi 

     Amendment 1992 

c- 92nd Constitution - 3. Manipuri, Nepali, Kannada 

    Amendment 2003  

Code -  A B C 

(a)   2  1  3 

(b)   3  1  2 

(c)   1  2  3 

(d)   2  3  1 

 

 
40. Which one of the following is a fundamental duty 

in India? 

(a) Separation of executive from judiciary 

(b) To preserve the rich heritage of our mixed culture 

(c) Free and compulsory education for children 

(d) To end the tradition of untouchability. 

 
41. Which of the following is not included in the 

Fundamental Duties under the Indian 

Constitution? 

(a) To protect the country and serve the nation. 

(b) To understand the importance of the glorious 

 tradition of our social culture and to preserve it. 

(c) To assist in the formation of village panchayats. 

(d) To protect public property and abstain from 

 violence. 

 

42. "Protect and keep intact the sovereignty, unity and 

integrity of India." This provision has been made 

in 

(a) Preamble of the Constitution 

(b) Directive Principles of State Policy 

(c) Fundamental Right  (d) Fundamental Duty 

 

 

43. Given below are two statements- 

Assertion (A): The President of India is elected by 

indirect election. 

Reason (R) : There is a system of electoral college, 

which is made up of elected members of both the 

houses of parliament and state legislatures. 
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 Li"Vhj.k gSA  

¼d½ ¼A½ vkSj ¼R½ nksuksa lgh gSa vkSj ¼R½] ¼A½ lgh 

 Li"Vhdj.k ugha gSA 

44- Hkkjr ds jk"Vªifr ds pquko ds fy, pquko eaMy ds 

lnL; gksrs gSa\ 

1) yksd lHkk ds pqus gq, lnL;  

2) jkT; lHkk ds pqus gq, lnL; 

3) jkT; fo/kku lHkk ds pqus gq, lnL; 

4) jkT; fo/kku ifj"kn~ ds pqus gq, lnL; 

¼a½ 1 ,oa 2   ¼b½ 1 ,oa 3 

¼c½ 1] 2 ,oa 3  ¼d½ 1] 3 ,oa 4 
  

45- Hkkjrh; lafo/kku ds fdl vuqPNsn ds varxZr jk"Vªifr 

laln ds nksuksa lnuksa }kjk ikfjr fdlh fcy ij viuh 

Lohd`fr jksd ldrs gSa\ 

¼a½ vuqPNsn 63  ¼b½ vuqPNsn 108 

¼c½ vuqPNsn 111  ¼d½ vuqPNsn 109 
  

46- fuEu dFkuksa ij fopkj dhft,& 

dFku (A):   Hkkjr dk jk"Vªifr fczfV'k jktk esa fHkUu 

gSA 

dkj.k (R):   Hkkjr ds jk"Vªifr dk in vesfjdk ds 

jk"Vªifr ls feyrk gSA 

mi;qZDr ds lanHkZ esa fuEu esa dkSu&lk lgh gS\ 

¼a½ nksuksa (A) vkSj (R) lgh gS vkSj (R), (A) dk lgh 

 Li"Vhdj.k gSA   

¼b½ nksuksa (A) vkSj (R) lgh gSa vkSj (R), (A) dk lgh 

 Li"Vhdj.k ugha gSA 

¼c½ (A) lgh gS] (R)  ijarq xyr gSA  

¼d½ (A) xyr gS] ijarq (R) lgh gSA 

47- ykHk ds in dk fu.kZ; dkSu djsxk\ 

¼a½ jk"Vªifr ,oa jkT;iky ¼b½ la?kh; laln 

¼c½ mPpre U;k;ky; ¼d½ la?k yksd lsok vk;ksx 
 

48- lqesfyr dhft,& 

     la'kks/ku   fo"k; 

a- 101ok¡ lafo/kku & 1- lkekU; oxZ ds vkfFkZd :Ik ls 

la'kks/ku       fiNMs+ oxZ ds yksxksa dks  

       vkj{k.k 

b- 102ok¡ lafo/kku & 2- th-,l-Vh 

la'kks/ku 

c- 103ok¡ lafo/kku & 3- ST o SC dks yksd lHkk o  

la'kks/ku       fo/kkulHkk esa vkj{k.k dh  

       vof/k dks c<+k;k x;kA 

d- 104ok¡ lafo/kku la'kks/ku & 4- fiNM+k oxZ vk;ksx 

dwV &  A B C D 

¼a½   2 4 1 3 

¼b½   2 1 4 3 

¼c½  1 2 3 4 

Select the correct answer in the context of the above : 

(a) (A) is correct, but (R) is incorrect. 

(b) (A) is wrong, but (R) is correct. 

(c) (A) and (R) both are correct and (R),is the  

 correct explanations. of A 

(d) (A) and (R) both are correct and (R) is not 

 correct explanations of A 

 
44. The members of the electoral college for the 

election of the President of India are from ? 

1) Elected members of Lok Sabha 

2) Elected members of Rajya Sabha 

3) Elected members of the State Legislative Assembly 

4) Elected members of the State Legislative Council 

(a) 1 and 2    (b) 1 and 3 

(c) 1, 2 and 3   (d) 1, 3 and 4 

 
45. Under which article of the Indian Constitution, the 

President can withhold his assent to a bill passed 

by both the Houses of Parliament? 

(a) Article 63   (b) Article 108 

(c) Article 111  (d) Article 109 
 

46. Consider the following statements- 

Assertion (A):  The President of India is different 

from the British King. 

Reason (R) : The post of President of India is similar 

to that of the President of America. 

Which of the following is correct with respect to the 

above? 

(a) (A) and (R) both are correct and (R) is the 

 correct explanations of A 

(b) (A) and (R) both are correct and (R) is not 

 correct explanation of (A). 

(c) (A) is correct, but (R) is incorrect. 

(d) (A) is wrong, but (R) is correct. 

 
47. Who will decide the office of profit? 

(a) President and Governor  (b) Federal Parliament 

(c) Supreme Court  

(d) Union Public Service Commission 
 

48. Match the following pairs- 

   Amendments    Subject  

a- 101 Constitutional  - 1. Reservation to economic       

     Amendment             weaker section of  general  

              category 

b- 102 Constitutional - 2. GST 

     Amendment 

c- 103 Constitutional - 3. Extention of Reservation for 

     Amendment         St, Sc in Lok Sabha and  

           Vidhan Sabha  

d- 104 Consitutional -  4. OBC Commission 

     Amendment   
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¼d½  4 3 2 1 
  

49-  buesa ls dkSu jkT; ljdkj dk dkuwuh lykgdkj gS\ 

¼a½ egkf/koDrk  ¼b½ egkU;k;oknh 

¼c½ lkWfyflVj tujy  

¼d½ fu;a=d ,oa egkys[kk ijh{kd 
 

50- yksd lHkk esa jkT;okj lhVksa dk vkaoV lu~ 1971 dh 

tux.kuk ij vk/kkfjr gSA ;g fu/kkZj.k fdl o"kZ rd 

;Fkkor jgsxk\ 

¼a½ 2031   ¼b½ 2026 

¼c½ 2021   ¼d½ 2011 

51- yksd lHkk dks dk;Zdky iwjk gksus ds igys Hkax fd;k 

tk ldrk gS\ 

¼a½ jk"Vªifr }kjk Lofoosd ls   

¼b½ iz/kkuea=h }kjk Lofoosd ls 

¼c½ yksd lHkk v/;{k }kjk Lofoosd ls  

¼d½ iz/kkuea=h dh flQkfj'k ij jk"Vªifr }kjk 
 

52- yksd lHkk dk dk;Zdky& 

¼a½ fdlh Hkh ifjfLFkfr esa ugha c<+k;k tk ldrk 

¼b½ ,d ckj esa N% eghus rd ds fy, c<+k;k tk 

 ldrk 

¼c½ vkikrdky dh ?kks"k.kk ds nkSjku ,d ckj esa ,d 

 o"kZ rd ds fy, c<+k;k tk ldrk gSA  

¼d½ vkikrdky dh ?kks"k.kk ds nkSjku ,d ckj esa nks o"kZ 

 rd ds fy, c<+k;k tk ldrk gSA 
  

53- fuEu esa ls dkSu vius in dh 'kiFk ugha ysrk\ 

¼a½ jk"Vªifr   ¼b½ mijk"Vªifr 

¼c½ iz/kkuea=h  ¼d½ Lihdj 
  

54- izFke yksdlHkk Lihdj ftuds fo:) yksd lHkk esa 

vfo'okl dk izLrko yk;k x;k Fkk\ 

¼a½ ch-vkj-tk[kM+  ¼b½ th-oh-ekoyadj 

¼c½ gqdqe flag  ¼d½ ds-,l-gsxM+s 
  

55- ,d o"kZ esa de ls de fdruh ckj laln dh cSBd 

gksuk vko';d gS\ 

¼a½ ,d ckj   ¼b½ nks ckj 

¼c½ rhu ckj   ¼d½ pkj ckj 

56- ys[kkuqnku cuk gS& 

¼a½ dSx dh fjiksVZ ij ernku ds fy,  

¼b½ vizR;kf'kr O;; dks iwjk djus ds fy, 

¼c½ ctV ikfjr yafcr gksus ds dkj.k fuf/k vkoaVu gsrq 

¼d½ ctV ds fy, 

57- og dkSu jk"Vªoknh usrk Fkk tks 1925 esa dsanzh; fo/kku 

lHkk dk v/;{k ¼Lihdj½ pquk x;k\ 

¼a½ eksrhyky usg:  ¼b½ foV~By HkkbZ iVsy 

¼c½ oYyHk HkkbZ iVsy ¼d½ lh-vkj-nkl 
  

CODE - A B C D 

(a)   2 4 1 3 

(b)   2 1 4 3 

(c)   1 2 3 4 

(d)   4 3 2 1 

 
 

49. Who among the following is the legal advisor to the 

state government? 

(a) Advocate General   

(b) Attorney General 

(c) Solicitor General 

(d) Comptroller and Auditor General 
 

50. The state-wise allocation of seats for the Lok Sabha 

is based on the 1971 census. For what year will this 

determination remain in place? 

(a) 2031    (b) 2026 

(c) 2021    (d) 2011 
 

51. Lok Sabha can be dissolved before the completion 

of its term? 

(a) On the discretion of the President 

(b) On the discretion of the Prime Minister 

(c) On the discretion of the Speaker of the Lok Sabha 

(d) By the President on the recommendation of the 

 Prime Minister 
 

 

52. Tenure of Lok Sabha- 

(a) Cannot be extended under any circumstances 

(b) Extendable up to six months at a time 

(c) May be extended for one year at a time during the 

 proclamation of emergency. 

(d) May be extended for two years at a time during the 

 proclamation of emergency. 

 

 
53. Who among the following does not take the oath of 

his office? 

(a) President   (b) Vice President 

(c) Prime Minister   (d) Speaker 
 

54. The first lok sabha speaker against whom a motion 

of no confidence was moved in the Lok Sabha? 

(a) BR Jakhar   (b) G.V. Mavalankar 

(c) Hukum Singh   (d) KS Hegde 

 

55. At least how many times a meeting of Parliament is 

necessary in a year? 

(a) Once    (b) Twice 

(c) Three times   (d) Four times 
 

56. Vote on Account is made by- 

(a) To vote on the report of the CAG 

(b) To meet unforeseen expenditure 

(c) For allocation of funds due to the pendency of the 

 budget 

(d) For the budget 
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58- ?kjsyw fgalk ls efgykvksa dh lqj{kk vf/kfu;e ykxw gqvk 

gS\ 

¼a½ 20 flracj] 2005 dks ¼b½ 30 flracj] 2006 dks 

¼c½ 10 vDVwcj] 2006 dks ¼d½ 26 vDVwcj] 2006 dks 
  

59- fuEufyf[kr esa ls fdl lfefr esa jkT; lHkk dk 

izfrfuf/kRo ugha gksrk gS\ 

¼a½ yksd ys[kk lfefr  

¼b½ lkoZtfud miØeksa dh lfefr 

¼c½ vkdyu lfefr   

¼d½ ljdkj dh vk'oklu lfefr 
  

60- Hkkjr ds jk"Vªifr ds egkfHk;ksx dh izfØ;k gS\ 

¼a½ v/kZ&U;kf;d izfØ;k ¼b½ dk;Zikfydk izfØ;k 

¼c½ U;kf;d izfØ;k  ¼d½ fo/kk;h izfØ;k 
  

61- loZlEefr ls fuokZfpr Hkkjr ds jk"Vªifr Fks\ 

¼a½ ,l-jk/kkd`".ku  ¼b½ oh-oh-fxfj 

¼c½ ,u-latho jsM~Mh  ¼d½ Kkuh tSy flag 
  

62- Hkkjr esa mPpre U;k;ky; dk mn~?kkVu fdl frfFk esa 

gqvk Fkk\ 

¼a½ 27 tuojh] 1950 ¼b½ 28 tuojh] 1950 

¼c½ 29 tuojh] 1950 ¼d½ 30 tuojh] 1950 
   

63- mPpre U;k;ky; esa lafo/kku ds fuokZpu ls lacaf/kr 

ekeys dh lquokbZ djus ds fy, U;k;k/kh'kksa dh la[;k 

U;wure gksuh pkfg,\ 

¼a½ 10   ¼b½ 9 

¼c½ 5   ¼d½ 7 
   

64- fuEufyf[kr esa ls fdl okn esa mPpre U;k;ky; us 

^lafo/kku ds ewy <kaps* dk fl)kar izfrikfnr fd;k 

Fkk\ 

¼a½ xksydukFk  ¼b½ ,-ds-xksikyu 

¼c½ ds'kokuan Hkkjrh  ¼d½ esudk xk¡/kh 
     

65- U;kf;d iqujkoyksdu izpfyr gSa& 

¼a½ dsoy Hkkjr esa  ¼b½ dsoy ;w-ds- esa 

¼c½ dsoy ;w-,l-,- esa  ¼d½ 1 o 3 nksuksa esa 
  

66- mPpre U;k;ky; ls dkuwuh ekeyksa ij fdldks 

ijke'kZ ysus dk vf/kdkj gS\ 

¼a½ iz/kkuea=h dks  ¼b½ jk"Vªifr dks 

¼c½ fdlh Hkh mPp U;k;ky; dks   

¼d½ mi;qZDr lHkh dks 

 
  

67- fuEu esa ls dkSu&ls ekeys mPp U;k;ky; vkSj 

mPpre U;k;ky; dh vf/kdkfjrk esa vkrs gSa\ 

¼a½ dsanz ,oa jkT;ksa ds chp fookn  

¼b½ jkT;ksa ds ijLij fookn 

¼c½ ewy vf/kdkjksa dk izorZu   

57. Who was the nationalist leader elected as a Speaker 

of the Central Legislative Assembly in 1925? 

(a) Motilal Nehru   (b) Vitthalbhai Patel 

(c) Vallabhbhai Patel  (d) CR Das 
 

 

58. The Protection of Women from Domestic Violence 

Act has come into force? 

(a) 20th September, 2005  (b) 30th September, 2006 

(c) 10th October, 2006  (d) 26th October, 2006 

 
59. Rajya Sabha is not represented in which of the 

following committees? 

(a) Public Accounts Committee 

(b) Committee on Public Undertakings 

(c) Estimate Committee 

(d) Assurance Committee of the Government 

 
60. The process of impeachment of the President of 

India is? 

(a) Quasi-judicial process  (b) Executive process 

(c) Judicial process   (d) Legislative process 

61. Who was the unanimously elected President of 

India? 

(a) S. Radhakrishnan  (b) V.V.giri 

(c) N. Sanjeev Reddy  (d) Giani Zail Singh 
 

62. On which date was the Supreme Court 

inaugurated in India? 

(a) 27th January, 1950  (b) 28th January, 1950 

(c) 29th January, 1950  (d) 30th January, 1950 

  

63. What should be the minimum number of judges in 

the Supreme Court to hear a matter relating to the 

interpretation of the Constitution? 

(a) 10    (b) 9 

(c) 5    (d) 7 

  
64. In which of the following cases did the Supreme 

Court propound the principle of 'Basic Structure 

of the Constitution'? 

(a) Golaknath   (b) AK Gopalan 

(c) Kesavananda Bharati  (d) Maneka Gandhi 

    

65. Judicial review is prevalent in- 

(a) India only   (b) UK only in 

(c) USA only in   (d) Both 1 and 3 

 

66. Who has the right to consult the Supreme Court on 

legal matters? 

(a) The Prime Minister  (b) The President 

(c) To any High Court 

(d) All of the above 
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¼d½ lafo/kku ds mYya?ku ls laj{k.k 
  

68- ih-vkbZ-,y- gS\ 

¼a½ ifCyd bUVjsLV fyfVxs'ku   

¼b½ ifCyd bUDok;jh fyfVxs'ku 

¼c½ ifCyd bUosLVesaV fyfVxs'ku   

¼d½ izkbosV bUosLVesaV fyfVxs'ku 
  

69- fdl dkuwu ds varxZr ;g fofgr gS fd Hkkjr ds 

mPpre U;k;ky; dh laiw.kZ dk;Zokgh vaxzsth Hkk"kk esa 

gksxh\ 

¼a½ mPpre U;k;ky; dkuwu] 1966 }kjk  

¼b½ Hkkjrh; lafo/kku ds vuqPNsn 145 }kjk 

¼c½ laln }kjk cuk, x, fo/ks;d }kjk  

¼d½ Hkkjrh; lafo/kku ds vuq- 348 }kjk 
  

70- jkT; dk jkT;iky eaf=ifj"kn~ ds ijke'kZ ls Lora= 

dk;Z dj ldrk gS\ 

1) fo/kkulHkk esa ljdkj dks viuk cgqer fl) djus 

dks dgus ds fy,A 

2) eq[;ea=h dks c[kkZLr djus ds fy,A 

3) Hkkjr ds jk"Vªifr ds fopkjkFkZ fdlh fo/ks;d dks 

vkjf{kr djus ds fy,A 

4) fo/kkf;dk }kjk ikfjr fdlh fo/ks;d dks iqufoZpkj 

gsrq okil djus ds fy,A 

5) mPPk U;k;ky; dk ijke'kZ ekaxus ds fy,A 

v/kksfyf[kr dwVksa esa ls lgh mRrj dk p;u dhft,% 

¼a½ 1]2]3 vkSj 4  ¼b½ 2]3]4 vkSj 5 

¼c½ 1]2]4 vkSj 5  ¼d½ mi;ZqDr lHkh 
  

71- fuEu ij fopkj dhft, ,oa uhps fn, x, dwVksa dk 

iz;ksx djrs gq, lgh mRrj dk p;u dhft,\ 

1) jkT;iky viuk in xzg.k djus ls iwoZ 'kiFk ysxk 

;k izfrKku djsxkA 

2) 'kiFk ;k izfrKku dk izk:Ik Hkkjrh; lafo/kku dh 

rhljh vuqlwph esa gSA 

3) jkT;iky mPp U;k;ky; ds eq[; U;k;ewfrZ ;k 

mldh vuqifLFkfr esa T;s"Bre U;k;k/kh'k ds le{k 

'kiFk ;k izfrKku djsxkA 

4) 'kiFk ;k izfrKku dh izfØ;k Hkkjrh; lafo/kku ds 

vuqPNsn 159 esa nh xbZ gSA 

dwV% 

¼a½ 1]2 vkSj 3  ¼b½ 1]3 vkSj 4 

¼c½ 1]2 vkSj 4  ¼d½ 1]2]3 vkSj 4 
  

72- tc ,d gh O;fDr dks nks ;k vf/kd jkT;ksa dk 

jkT;iky fu;qDr fd;k tkrk gS] rks ml jkT;iky dks 

lansg miyfC/k;ka vkSj HkRrs gksaxs\ 

¼a½ jkT;iky dh O;Dr bPNkuqlkj   

¼b½ jk"Vªifr ds fu.kZ;kuqlkj 

67. Which of the following matters come under the 

jurisdiction of High Court and Supreme Court? 

(a) Disputes between the Center and the States 

(b) Disputes between states 

(c) Enforcement of Fundamental Rights 

(d) Protection from violation of the Constitution 

 

68. PIL Is? 

(a) Public Interest Litigation 

(b) Public Inquiry Litigation 

(c) Public Investment Litigation 

(d) Private Investment Litigation 

 
69. Under which law it is prescribed that the entire 

proceedings of the Supreme Court of India shall be 

in English language? 

(a) By the Supreme Court Act, 1966 

(b) By Article 145 of the Constitution of India 

(c) By a bill made by the Parliament 

(d) Article 348 of the Indian Constitution.  

 
 

70. The Governor of a State can act independently 

without consultation of the Council of Ministers? 

1) To ask the government to prove its majority in the 

 assembly. 

2) To dismiss the Chief Minister. 

(3) To reserve a Bill for the consideration of the     

      President of India. 

4) To return a bill passed by the legislature for  

     reconsideration. 

5) To seek the advice of the High Court. 

Select the correct answer from the codes given below: 

(a) 1,2,3 and 4   (b) 2,3,4 and 5 

(c) 1,2,4 and 5   (d) all of the above 

 

 
 

71. Consider the following and select the correct 

answer using the codes given below? 

(1) The Governor shall, before entering upon his  

      office, make an oath or affirmation. 

(2) The format of the oath or affirmation is in the  

     Third Schedule of the Constitution of India. 

(3) The Governor shall make an oath or affirmation  

      before the Chief Justice of the High Court or in his   

      absence, the senior-most Judge. 

(4) The procedure for oath or affirmation is given in  

      Article 159 of the Constitution of India. 

Code: 

(a) 1,2 and 3   (b) 1,3 and 4 

(c) 1,2 and 4   (d) 1,2,3 and 4 
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¼c½ x`g ea=ky; ds fu.kkZ;kuqlkj   

¼d½ bls mu jkT;ksa ds chp ,sls vuqikr esa vkoafVr 

 fd;k tk,xk tSlk jk"Vªifr vkns'k }kjk vo/kkfjr 

 djsaA 
  

73- fdlh jkT; ds jkT;iky }kjk tkjh v/;kns'k dk 

vuqeksnu gksuk vko';d gS\ 

¼a½ jk"Vªifr }kjk   

¼b½ jkT; dh fo/kkf;dk }kjk 

¼c½ jkT; ds eaf=;ksa dh dkmfUly }kjk  

¼d½ mi;qZDr esa ls fdlh ls ugha 

74- fo/kku ifj"kn~ fdlh lk/kkj.k fo/ks;d dks fuEu eas ls 

fdl vof/k rd jksd ldrh gS\ 

¼a½ 3 ekg   ¼b½ 4 ekg 

¼c½ 6 ekg   ¼d½ 14 fnu 

75- jkT; fo/kku ifj"kn~ dh lajpuk dks Hkkjrh; lafo/kku 

ds fdl vuqPNsn esa j[kk x;k gS\ 

¼a½ vuqPNsn 170  ¼b½ vuqPNsn 171 

¼c½ vuqPNsn 172  ¼d½ vuqPNsn 173 
  

76- fcuk fo/kkulHkk dk lnL; fuokZfpr gq, dksbZ ea=h 

fdl le; rd in ij cuk jg ldrk gS\ 

¼a½ ,d o"kZ   ¼b½ N% ekg 

¼c½ rhu o"kZ   ¼d½ rhu ekg 
  

77- Hkkjr ds lafo/kku ds fdl vuqPNsn ds vuqlkj] jkT; 

ds jkT;iky ds }kjk eq[;ea=h dks fu;qfDr fd;k tkrk 

gS\ 

¼a½ vuqPNsn 163  ¼b½ vuqPNsn 164 

¼c½ vuqPNsn  165  ¼d½ vuqPNsn 166 
   

78- fuEu esa ls dkSu&lh ,d ;kfpdk v/khuLFk U;k;ky;ksa 

dh dk;Zokgh dk ijh{k.k djrh gS\ 

¼a½ vf/kdkj i`PNk  ¼b½ ijekns'k 

¼c½ mRiszz"k.k   ¼d½ canh izR;{khdj.k 
  

79- os fo"k; ftu ij dsanz o jkT; ljdkjsa nksuksa dkuwu 

cuk ldrh gSa] mfYyf[kr gSa\ 

¼a½ la?k lwph esa  ¼b½ jkT; lwph es 

¼c½ leorhZ lwph es  ¼d½ vof'k"V lwph esa 

80- lafo/kku ds fdl izko/kku esa dgk x;k fd fof/k ds 

izkf/kdkj ds fcuk u rks dksbZ dj yxk;k tk ldrk gS 

vkSj u gh ,df=r fd;k tk ldrk gS\ 

¼a½ vuqPNsn 265  ¼b½ vuqPNsn 266 

¼c½ vuqPNsn 300  ¼d½ vuqPNsn 368 

81- ekSfyd vf/kdkjksa ls tqM+s fuEufyf[kr vuqPNsn ds 

;qXeksa esa ls dkSu ,d Hkkjrh; lafo/kku ds vuq- 352 ds 

varxZr vkikr fLFkfr ykxw djus ds nkSjku fuyafcr 

ugha gks ldrk\ 

¼a½ 20 vkSj 21  ¼b½ 14 vkSj 15 

72. When the same person is appointed as the 

Governor of two or more states, then that 

Governor will have get emoluments and 

allowances? 

(a) As expressed by the Governor 

(b) As per the decision of the President 

(c) As per the decision of the Ministry of Home Affairs 

(d) It may be transferred between those States in such 

 agreement shall be allotted in such proportion 

 as the President may, by order, determine. 

 

73. Is it necessary to have the approval of the 

Ordinance issued by the Governor of a State? 

(a) By the President 

(b) By the legislature of the state 

(c) By the Council of Ministers of the State 

(d) None of the above 

 

74. The Legislative Council can stop an ordinary bill 

for which of the following period? 

(a) 3 months   (b) 4 months 

(c) 6 months   (d) 14 days 
 

75. In which article of the Indian Constitution the 

structure of State Legislative Council has been 

mentioned? 

(a) Article 170   (b) Article 171 

(c) Article 172   (d) Article 173 
 

76. For how long can a minister remain in office 

without being elected a member of the Legislative 

Assembly? 

(a) one year   (b) six months 

(c) three years   (d) three months 
 

77. According to which Article of the Constitution of 

India, the Chief Minister is appointed by the 

Governor of the State? 

(a) Article 163   (b) Article 164 

(c) Article 165   (d) Article 166 

  
78. Which one of the following petitions examines the 

proceedings of subordinate courts? 

(a) Quo warranto  (b) Mandamus 

(c) Certiorari  (d) Habeas corpus 

 
79. The subjects on which both the central and state 

governments can make laws are mentioned? 

(a) Union List   (b) State List 

(c) Concurrent list   (d) Residuary list 
 

80. Which provision of the Constitution states that no 

tax can be levied or collected except by authority of 

law? 

(a) Article 265   (b) Article 266 

(c) Article 300   (d) Article 368 
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¼c½ 16 vkSj 17  ¼d½ 24 vkSj 25 
  

82- fuEu esa ls Hkkjrh; lafo/kku ds fdl vuqPNsn dk 

mi;ksx vHkh rd ugha fd;k x;k gS\ 

¼a½ vuqPNsn 60  ¼b½ vuqPNsn 352 

¼c½ vuqPNsn 356  ¼d½ vuqPNsn 360 
  

83- Hkkjr esa yksdiky ,oa yksd;qDr dh LFkkiuk dk lq>ko 

fn;k Fkk\ 

¼a½ ljdkfj;k vk;ksx us  

¼b½ iz'kklfud lq/kkj vk;ksx us 

¼c½ fof/k vk;ksx us  ¼d½ BDdj vk;ksx us 
  

84- fuEu esa ls fdl jkT; us loZizFke yksdk;qDr laLFkk 

dh LFkkiuk dh\ 

¼a½ jktLFkku  ¼b½ egkjk"Vª 

¼c½ fcgkj   ¼d½ xqtjkr 
  

85- Hkkjrh; iz'kklfud lsok vkSj Hkkjrh; iqfyl lsok dks 

lekIr djus dh flQkfj'k fdlus dh Fkh\ 

¼a½ <scj vk;ksx  ¼b½ dkysydj vk;ksx 

¼c½ [ksj vk;ksx  ¼d½ jkteUukj vk;ksx 
  

86- lafo/kku ds fdl vuqPNsn ds varxZr yksd lsok 

vk;ksx ds lnL; dks gVk;k tk ldrk gS\ 

¼a½ 315   ¼b½ 316 

¼c½ 317   ¼d½ 318 
  

87- Hkkjrh; lafo/kku ds izf/kdr̀ fganh ikB dks fuEufyf[kr 

lafo/kku la'kks/kuksa esa ls fdlds }kjk izdkf'kr djus ds 

fy, vf/kd`r fd;k x;k\ 

¼a½ 57 oka la'kks/ku]1987 ¼b½ 58oka la'kks/ku]1987 

¼c½ 59oka la'kks/ku]1988  ¼d½ 60oka la'kks/ku]1988 
  

 

88- lafo/kku ds fdl vuqPNsn esa ;g O;oLFkk dh xbZ gS 

fd izR;sd jkT; f'k{kk ds izkFkfed Lrj ij ekr̀Hkk"kk esa 

f'k{kk dh Ik;kZIr lqfo/kkvksa dh O;oLFkk djus dk iz;kl 

djsxk\ 

¼a½ vuqPNsn 349  ¼b½ vuqPNsn 350 

¼c½ vuqPNsn 350 & d ¼d½ vuqPNsn 351 
  

89- Hkkjrh; lafo/kku ds fuEufyf[kr vuqPNsnksa esa ls 

dkSu&lk vuqPNsn jkT; dh ljdkjksa dks xzke iapk;rksa 

dks laxfBr djus dk funsZ'k nsrk gS\ 

¼a½ vuqPNsn 32  ¼b½ vuqPNsn 40 

¼c½ vuqPNsn 48  ¼d½ vuqPNsn 51 

90- la?k yksd lsok vk;ksx dh izFke efgyk v/;{k dk uke 

gS\ 

¼a½ 'khyk nhf{kr  ¼b½ jkst cSF;w 

¼c½ oh.kk etwenkj  ¼d½ ekjxzsV vYok 
  

81. Which one of the following pairs of articles related 

to Fundamental Rights of the Indian Constitution 

cannot be suspended during the enforcement of 

emergency under 352? 

(a) 20 and 21   (b) 14 and 15 

(c) 16 and 17   (d) 24 and 25 

 
82. Which one of the following Articles of the Indian 

Constitution has not been used yet? 

(a) Article 60   (b) Article 352 

(c) Article 356   (d) Article 360 

 
83. Who suggested the establishment of Lokpal and 

Lokayukta in India? 

(a) Sarkaria Commission 

(b) Administrative Reforms Commission 

(c) Law Commission   

(d) Thakkar Commission 
 

84. Which of the following states first established the 

institution of Lokayukta? 

(a) Rajasthan   (b) Maharashtra 

(c) Bihar    (d) Gujarat 

 

85. Who recommended the abolition of the Indian 

Administrative Service and the Indian Police 

Service? 

(a) Dhebar Commission  (b) Kalelkar Commission 

(c) Kher Commission        (d) Rajamannar Commission 
 

86. Under which article of the constitution a member 

of the Public Service Commission can be removed? 

(a) 315    (b) 316 

(c) 317    (d) 318 

 

87. Authentic Hindi text of the Indian Constitution was 

authorized to be published by which of the 

following constitutional amendments? 

(a) 57th amendment, 1987   

(b) 58th amendment, 1987 

(c) 59th amendment, 1988  

(d) 60th amendment, 1988 
 

88. In which article of the Constitution it has been 

provided that every State shall endeavor to provide 

adequate facilities to promote the primary stage of 

education in the mother tongue? 

(a) Article 349   (b) Article 350 

(c) Article 350 - A   (d) Article 351 

 
89. Which one of the following Articles of the Indian 

Constitution directs the State Governments to 

organize Village Panchayats? 

(a) Article 32   (b) Article 40 

(c) Article 48   (d) Article 51 
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91- varjkZ"Vªh; cky vf/kdkj fnol fdl frfFk dks euk;k 

tkrk gS\ 

¼a½ 14 flracj  ¼b½ 20 uoEcj  

¼c½ 1 tuojh  ¼d½ 4 vDVwcj   
  

92- fuokZpu vk;qDr dks gVk;k tk ldrk gS\ 

¼a½ eq[; fuokZpu vk;qDr ds Ikjke'kZ ij jk"Vªifr }kjk 

¼b½ eq[; fuokZpu vk;qDr ds ijke'kZ ls iz/kkuea=h }kjk 

¼c½ eq[; fuokZpu vk;qDr }kjk 

¼d½ Hkkjr ds eq[; U;k;/kh'k }kjk 
  

 

 

93- fnus'k xksLokeh lfefr dk laca/k Fkk\ 

¼a½ Hkwfe lq/kkjksa ls   ¼b½ pdek leL;k ls  

¼c½ fuokZpu lq/kkjkas ls   

¼d½ cSadks ds jk"Vªh;dj.k dh lekfIr ls 
  

94- jk"Vªh; ekuokf/kdkj vk;ksx ds v/;{k dk dk;Zdky 

gksrk gS\ 

¼a½ 3 o"kZ   ¼b½ 4 o"kZ  

¼c½ 5 o"kZ   ¼d½ 6 o"kZ 
  

95- Þjk"Vªh; ernkrk fnolß dc euk;k tkrk gS\ 

¼a½ 5 twu    ¼b½ 12 tuojh 

¼c½ 25 tuojh  ¼d½ 8 ekpZ 
  

96- Hkkjr ds CAG dks in ls dsoy fdlds }kjk gVk;k 

tk ldrk gS\ 

¼a½ Hkkjr ds eq[; U;k;ewfrZ ds ijke'kZ ls jk"Vªifr 

 }kjk 

¼b½ mPpre U;k;ky; ds eq[; U;k;ewfrZ }kjk 

¼c½ Hkkjr dh laln ds nksuks lnuksa esa oksfVax ds 

 mijkar jk"Vªifr }kjk    

¼d½ la?k ds eaf=eaMy ds ijke'kZ ls jk"Vªifr }kjk 
  

97- buesa ls dkSu&dkSu lh vf[ky Hkkjrh; lsokvksa dh 

Js.kh esa vkrh gS\ 

¼1½ Hkkjrh; iz'kklfud lsok ¼2½ Hkkjrh; ou lsok 

¼3½ Hkkjrh; fons'k lsok ¼4½ Hkkjrh; iqfyl lsok 

dwV & 

¼a½ dsoy 1 o 3  ¼b½ dsoy 1 o 4 

¼c½ dsoy 1]2 o 4  ¼d½ lHkh pkjksa 
  

98- jk"Vªh; efgyk vk;ksx dks fuEu esa ls dkSu&lh 'kfDr 

izkIr gS\ 

¼a½ vkijkf/kd U;k;ky; ¼b½ flfoy U;k;ky;  

¼c½ laoS/kkfud  ¼d½ bueas ls dksbZ ugha 

99- jk"Vªh; efgyk vk;ksx viuk okf"kZd izfrosnu Hkstrk 

gS\ 

¼a½ dsUnz ljdkj dks ¼b½ mi&jk"Vªifr dks   

¼c½ jk"Vªifr dks   ¼d½ v/;{k yksdlHkk dks   
  

90. Name the first woman chairperson of the Union 

Public Service Commission? 

(a) Sheila Dikshit   (b) Rose Bathue 

(c) Veena Mazumdar  (d) Margaret Alva 

 
91. International Child Rights Day is celeberated on 

which date? 

(a) 14th September   (b) 20th November 

(c) 1st January   (d) 4th October 

 

92. How the Election Commissioner can be removed? 

(a) by the President on the advice of the Chief Election 

 Commissioner 

(b) by the Prime Minister in consultation with the 

 Chief Election Commissioner 

(c) by the Chief Election Commissioner 

(d) by the Chief Justice of India 
 

93. Dinesh Goswami Committee was related to? 

(a) Land reforms   (b) Chakma problem 

(c) By electoral reforms 

(d) With the end of nationalization of banks 

 
94. The term of the chairman of the National Human 

Rights Commission is? 

(a) 3 years    (b) 4 years 

(c) 5 years    (d) 6 years 

 

95. When is “National Voters Day” celebrated? 

(a) 5th June   (b) 12th January 

(c) 25 January   (d) 8 March 

 

96. The CAG of India can be removed from office only 

by? 

(a) By the President in consultation with the Chief 

 Justice of India 

(b) By the Chief Justice of the Supreme Court 

(c) By the President after voting in the both houses of 

 the Parliament of India 

(d) By the President in consultation with the Union 

 Cabinet 
 

97. Which of these comes under the category of All 

India Services? 

(1) Indian Administrative Service  

(2) Indian Forest Service 

(3) Indian Foreign Service  

(4) Indian Police Service 

Code - 

(a) 1 and 3 only   (b) 1 and 4 only 

(c) 1,2 and 4 only   (d) all four 

98. Which of the following powers does the National 

Commission for Women have? 

(a) Criminal Court   (b) Civil Court 

(c) Constitutional   (d) none of these 
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100- CVC ds eq[; lrdZrk vk;qDr fdrus le; ds fy;s 

viuk in xzg.k djrk gS\ 

¼a½ 3 o"kZ ;k 65 o"kZ  ¼b½ 5 o"kZ ;k 65 o"kZ 

¼c½ 3 o"kZ ;k 60 o"kZ  ¼d½ 4 o"kZ ;k 65 o"kZ 
  

99. National Commission for Women sends its annual 

report to? 

(a) to the Central Government  

(b) to the Vice-President 

(c) President   (d) Speaker Lok Sabha 
 

100. For how long does the Chief Vigilance 

Commissioner of CVC assume his office? 

(a) 3 years or 65 years  (b) 5 years or 65 years 

(c) 3 years or 60 years  (d) 4 years or 65 years 

 

 


